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Exercise 68 5 uppose that we ha independent geometric random variables X and X5. Let X, have
parameter p; and X» 1 ieter pa Fin(l the following:
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Exercise 69 Suppose you're playing volleyball where the first team to get two points more than their
opponents is declared the winner. Let G be the total number of games you played where each game is
independent of all other games. Assume that your team ends up winning each game with probability p.

(1) What is the probability that the total number of games played is n?

(2) Find the expected value of G.

(3) Find the variance of G.
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